704 80 40
- g 60] % 30
A ——RS (32:22 g
g af B (34+21) H —RS (3817) g — RS (60£39)
v = ! —UB (47417 52 —— UB (63444
E 2, E
o b e om
100 200 0 100 200 300 400 500 600 400 600 800 1000
Concngm®] Conc [ng ] Conc [ng m”]
254
o 3 20 g 309
: %‘5 § —— RS (74143)
H & £ 20y —— UB (78455
> < 10 5
H H LI

0 100 200 300
Conc [ng m] Conc [ng m”] Conc [ng m”]

Mg " .
] — - e
£ o SS (ggﬂg) g RS (3.212) 2 —— RS (193£110)
= = £ a0 —— UB (3.6+2 & —— UB (175465
H H 10
z £, 2

80 120 200 0 5 10 15 20 25 30 35 40 200 400 600 800 1000 1200 1400
Conc [ng m”] Conc [ng m™] Conc [ng m™]

3
g

H g” —— RS (241

H L5 — UB (2+1

] ER

14'|

16 18 20 520 25
Conc[ngm] Conc [ng m”]

2 3
Conc [ng m™]

12 144
3 10 5 12|
3 S 10 N
g —— RS (5704550) g Sg (gfi) i
s — UB (5504500) 5 = H
5 5 H
2 4 2 2
2
0 111
1000 2000 3000 4000 5000 8 10 12 v 10 1
Conc [ngm”] Conc [ng m"] ConcIngm”]
120
g
1
§
S &0 g
g i
L 60 2>
:
3 40 S
2
20
0
50 100 150 200 250 300 350 400 o 10 20 30 40 50

3
Conc [ngm?] Conc [ng m”]



